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XB=3 Lol g Touc slisey
 455all 395 YB dole Aoyl Al
YB = g*8mod P
YB = 73mod 23 = 21

K = (YA)*Bmod P= (4)3>mod 23 = 18
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: 43Matl 38 YA dole Hagd ulgs

YA = g*4mod P
YA = 7°mod 23 = 4

:a8Mall 38y (HbLall) gl 7 Lall g3

K = (YB)*4mod P =(21)®mod 23 = 18
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XB=3 Lol gdie Taue Lz, XA=4 La| gdie Taue sliks
:d8Mall 339 YB dnle daid I gs radMatl 399 YA dele daid Jgs
YB = g*8mod P YA = g**mod P
YB = 53mod 23 = 10 YA = 5*mod 23 = 4
AsMadl 33y (HLatl) gyl 7 Lall gy AsMadl 335 (HLiatl) gyl 7 Lall g3
K = (YA)*Bmod P= (4)3>mod 23 = 18 K = (YB)*4mod P = (10)*mod 23 = 18
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XB=3 Ll g-die Tauie Hlik, XA=2 ! gdie Taue liss
:d8Mall 339 YB dnle daid I gs radMatl 399 YA dele daid Jgs
YB = g*8mod P YA = g**mod P
YB = 73mod 17 = 3 YA = 7°mod 17 = 15
AsMadl 33y (HLatl) gyl 7 Lall gy AsMadl 335 (HLiatl) gyl 7 Lall g3
K = (YA)*Bmod P= (15)3mod 17 =9 K = (YB)*4mod P = (3)*mod 17 =9
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